## Huygens Institute - Royal Netherlands Academy of Arts and Sciences (KNAW)

## Citation:

Tollenaar, D.F., On the influence of the Earth's Rotation on pure Drift-Currents, in: KNAW, Proceedings, 14 II, 1911-1912, Amsterdam, 1912, pp. 1149-1158

This PDF was made on 24 September 2010, from the 'Digital Library' of the Dutch History of Science Web Center (www.dwc.knaw.nl) > 'Digital Library > Proceedings of the Royal Netherlands Academy of Arts and Sciences (KNAW), http://www.digitallibrary.nl'

## (1149)

Metereology. - "On the Influence of the Earth's Rotation on pure Drift-Currents". By Dr. D. F. Toluwnaal. (Communicated by Dr. J. P. van der Stok).
(Communicaled in the meeting of March 30, 1912).

The water of a laterally unbounded sea, initially at rest, is supposed to be suddenly subjected to the influence of a wind of constant magnitude and drechon. Assuming a left-handed axial sysiem of which the $Z$-axis points vertically downwards, the current-components $u$ and $v$ will have to satisfy the differential equations:

$$
\begin{aligned}
& \frac{\partial u}{\partial t}=a v+b \frac{\partial^{2} u}{\partial z^{2}} \\
& \frac{\partial v}{\partial t}=-a u+b \frac{\partial^{2} v}{\partial z^{2}}
\end{aligned}
$$

in which
$a=2 n \sin \varphi$.
$n=$ angular velocity of the earth $=7.3 \times 10^{-5}$.
$\varphi=$ geographical latilude.
$b=\frac{\mu}{\varrho}$.
$\mu=$ viscosity coefficient of water
$o=$ density.
Starting with the assumption of a sea of infinile depth, we have the conditional equations: $u=v=0$ for $t=0$ and $z=\infty$. The assumption of a constant wind, whose direction we take along the $Y$-axis, may be expressed by the equations:

$$
\begin{aligned}
& \left(\frac{\partial u}{\partial z}\right)_{z=0}=+\frac{k}{\mu} u_{0} \\
& \left(\frac{\partial v}{\partial z}\right)_{z=0}=-\frac{k}{\mu}\left(V-v_{0}\right),
\end{aligned}
$$

if $V$ represents the magnitude of the wind and $h$ the external viscosity coefficient.

The differential equations are solved in the simplest way by introducing a new variable $u+i v=w$, by which substitution they are transformed into:
1

$$
\begin{equation*}
\frac{\partial w}{\partial t}=-i a w+b \frac{\partial^{2} w}{\partial z^{2}} . \tag{I}
\end{equation*}
$$

Putting likewise $i V=W$ the conditional equations become: $w=0$ for $t=0$ and for $z=\infty$;

## ( 1150 )

$$
\left(\frac{\partial w}{\partial z}\right)_{z=0}=-\frac{k}{\mu}\left(W-w_{0}\right) .
$$

Putting $v^{\prime}=$ we $e^{\text {art }}$, the equations change to

$$
\begin{equation*}
\frac{\partial w^{\prime}}{\partial t}=b \frac{\partial^{2} w^{\prime}}{\partial t^{2}}, \tag{2}
\end{equation*}
$$

$$
\begin{gathered}
w v^{\prime}=0 \text { for } t=0 \text { and } z=\infty, \\
\left(\frac{\partial w^{\prime}}{\partial z}\right)_{z=0}=-c\left(W^{e u t}-w_{0}^{\prime}\right),
\end{gathered}
$$

$\frac{k}{\mu}$ being $=c$.
If we now introduce a function $\rho$, connected with $w w^{\prime}$ by

$$
\begin{equation*}
ヶ=-w^{\prime}+\frac{1}{c} \frac{\partial w^{\prime}}{\partial z} \tag{3}
\end{equation*}
$$

$\varphi$ will also have to satisfy the differential equation (2) and secondly we must have

$$
\varphi_{0}=-w_{0}^{\prime}-\left(W_{e} a t-w_{0}^{\prime}\right)=-W_{e}^{i n t} .
$$

Hence $\varphi$ satisfies the differential equation $\frac{\partial \rho}{\partial t}=b \cdot \frac{\partial^{2} \varphi}{\partial t^{2}}$ and $\mathscr{P}_{0}$ is a function of $t$.

- The solution of this equation is known from the theory of heatconduction and is

$$
\begin{align*}
& \left.\rho=-\frac{2}{V \pi} \int^{\alpha} W_{e}^{-\beta^{2}+2 a\left(1-\frac{z^{3}}{4 b \beta^{2}}\right)} d \beta, \cdot . \cdot .(4)^{1}\right)  \tag{4}\\
& \frac{\tilde{z}}{2 \sqrt{b t}} \text {. }
\end{align*}
$$

Here $W$ is constant by assumption; if $W$, the magnitude of the wind, were itself a function $W(t)$ of $t$, we should have under the sign of integration instead of $W$ : $W\left(t-\frac{z^{2}}{4 b \beta^{2}}\right)$. This remark will be useful later on.
(3) gives

$$
w^{\prime}=-c e^{c z} \int_{\tilde{\sim}}^{\infty} e^{-c \prime} r(\lambda) d \lambda
$$

and finally

$$
\begin{equation*}
w=\frac{2 c e^{c \tau}}{V / \pi} W \int_{\approx}^{\infty} e^{-c)} d \lambda \int_{\frac{1}{2 \zeta b t}}^{\infty} e^{-\beta^{2}-\frac{i\left(\alpha^{2}\right.}{4\left(\beta^{2}\right.}} d \beta^{2} . \tag{5}
\end{equation*}
$$

1) Riemann-Webrr, Partielle Dufferent gleich. II p...106.

The form of solution (5) gives rise to the following remarks: One would feel inclined, since (5) holds for a sea of infinite depth, to suppose that the solution for a sea of finite depth $h$ could be given in the same form, the upper limit of integration for 2 being $h$ instead of $\infty$, since the differential equations and other conditional equations, remain the same in this case. This conclusion would be wrong, however; the modified integral would be found no longer to salisfy the differential equation. The reason of this is found in the curcumstance that although the function $\varphi$ of eq. (3) must satusfy the same diff. eq. as $w^{\prime}$, this by no means involves that $w^{\prime}$ will satisfy this diff eq. together with $r$. On closer investigation this appears to be the case only when the upper limit is mfinte.
By introducing the new varrable $\zeta$ and puiting $\beta=\frac{\lambda}{2 \sqrt{b \zeta}}$ the solution (5) may be transformed into

$$
w=\frac{c e^{c}}{2 V b \pi} W \int_{z}^{\infty} e^{-c\rangle} d \lambda \int_{0}^{t} \frac{e^{-\frac{\lambda^{2}}{2\left(b_{\xi}\right.}-2 a^{t}}}{\zeta^{3 / 3}} d \zeta
$$

Now putting $2=2 b \zeta\left(\frac{\lambda}{2 b \zeta}+c\right)-2 c b \xi$, we obtain :

The solution for $w$ was reduced to the form (6) in order to render comparson easier with the solution, glven for the same problem by Fredholm ${ }^{1}$ ) and whet for valous reasons scemed to me to be theoretically inaccurate. For the assumption of a constant wind along the $T$-axis is expressed by Fredioln in the condtional equations $\left(\frac{\partial u}{\partial z}\right)=0,\left(\frac{\partial v}{\partial z}\right)_{z=0}=-\frac{T}{\mu}, T$ being taken constant. To thus form of the conditional equation he was probably led, because Eknin lad already found the solution of the stationary problem (in which the first members of the diff. eq. are put zero) and had used the same conditional equations as expressing a constant wind. Now these are right indeed in the stationary problem. For it is always possible to choose the axial system such that the $X$-axis has a direction along which the constant wind-velocity and the in this case constant surfacecurrent velocity have equal components. The $Y$-axis then lies in the

[^0]
## ( 1152 )

direction of the relative motion of the wind with respect to the water of the surface. It will presently be shown that in this case also a similar choice of aves is not to be recommended. Still it is theoretically the correct expression for the existence of a wind of constant direction and magnitude. But in the non-stationary problem matters are different. Here also it is possible to choose at a certain moment the axes such that the components of wind and surface current along the $X$-axis are equal and hence the conditional equation $\left(\frac{\partial u}{\partial z}\right)=0$ holds, but this direction would have to rotate with the time, since now the current velocity is variable. Hence the condithomal equations only express the condition of a constant wind with a rariable system of axes. Since, however, the diff. equations only hold for a set of axes fixed in the earth, Fredhocm's solution cannot be theoretically correct. Fredhola indeed finds a solution for which the $u$ and $v$ at the surface are, as we might expect, functions of $t$. Now if we bear in mund that his conditional equations lave no other meaning than that the wind component in the $X$-durection is always equal to that of the suiface current and that the difference of these components along the $Y$-axis remains constant, it follows at once that his conditional equations really presuppose a wind which is the same function of the time as the surface current.

Consequently, if Fredhom finds

$$
\begin{equation*}
w=\frac{i T}{\mu} \left\lvert\, / \frac{b}{\pi} \int_{0}^{t} \frac{e^{-\frac{z^{2}}{4 t}-i \pi^{\mu}}}{\zeta^{1 / 2}} d \zeta .\right. \tag{7}
\end{equation*}
$$

this solution can only be correct for the assumption of a wind, the components of which must be given by

$$
\begin{aligned}
& U=\frac{T}{\mu} / \angle \frac{b}{\pi} \int_{0}^{t} \frac{\sin a \zeta}{\zeta^{1 / 2}} d \zeta \\
& V=\frac{T}{\hbar}+\frac{T}{\mu} \quad \frac{b}{\pi} \int_{0}^{t} \frac{\cos a \zeta}{\zeta^{1 / 2}} d \zeta
\end{aligned}
$$

Comparing Fredholm's solution (7) with the solntion (6) found by us, and remembering that $W=i V$ and $c=\frac{k}{\mu}$. it will be seen that the first part of (6) corrésponds with Fredholm's solution and the second part ought to contain the theoretically required correction.
Now the following reasoning suggests itself: If in formula (6), we
suppose IV not to be constant, but some function of $t$ (which would modify this formula as explained under-(4)) and if for this special function of $t$ we take the above given expressions for $U$ and $V$, which according to me contain Frbdhom's equations of condition implicitly, we must obtain the solution of Fredholm. After some reductions of the integrals this appears to be indeed the case.

In order to judge of the practical valne of the correction, we write (6) in this way :

$$
w=e W / / \frac{b}{\pi} \int_{0}^{t} \frac{e^{-\frac{z^{2}}{46 E}-i n k}}{\zeta^{1 / 2}}\left(1-c \int_{0}^{\infty} e^{\left.-\frac{x^{2}+\frac{\eta z}{4}}{4 b z}-c\right\rangle} d \lambda\right) d \xi .
$$

Introducing the variable $\lambda^{\prime}=\frac{\lambda}{2 \sqrt{ } b \zeta}+c \sqrt{ } b \xi$ we have for the surface current

Now $2 x e^{x^{2}} \int_{x}^{\infty} e^{-\gamma^{\prime 2}} d l^{\prime}$ is a function, the value of which is zero at $x=0$, then rapidly rises and amounts already to 0.91 at $x=2$ and then slowly approaches the value 1 for $x=\infty$. At $x=0.06$, however, its value is only $1 / 10$. Now if $t$ is such that the $c V b \zeta$ belonging to this limit does not exceed 0.06 , the correction may practically be neglected. The data for a determination of $c V b \zeta$ are very scarce, but still it is possible to state something about the order of magnitude. This turns out, as will be explained presently, to be of the order $1^{-7}$. Hence the correction may be neglected in practice if $c V b t<006$ or $t<4.10^{4}$ i.e. about eleven hours. Thus Fredholm's formula, although theoretically inaccurate, is practically serviceable for studying the development of the current. If in formula (6) without a correcting member we put $W$ not constant but a function of $t$, the solution is, as we saw,

$$
w=d / \frac{b}{\pi} \int_{0}^{t} W(t-\zeta) \frac{e^{-\frac{z^{2}}{4 b 2}-i a \xi}}{\zeta^{1 / 2}} d \zeta,
$$

which formula would enable us to follow the development of the current if we assumed a time-function for the wind, which would then e.g. gradually increase or decrease.

Putting $t=\infty$ in formula (5) we must find the formulae for the
stationary case. Introducing the quantity $a^{\prime}=\int \frac{a}{2 b}$ we find:

$$
w=\frac{c W}{c+(1+\imath) a^{\prime}} e^{-(1+i) a^{\prime} z}
$$

from which follows for the current components

$$
u=\frac{c V}{\sqrt{a^{t_{2}}+\left(a^{\prime}+c\right)^{2}}} \sin \left(a^{\prime} z+\xi\right) e^{-a^{\prime} z}
$$

where $\operatorname{tg} \xi=\frac{a^{\prime}}{a^{\prime}+c}$

$$
v=\frac{c V}{\sqrt{a^{\prime}+\left(a^{\prime}+c\right)^{\prime}}} \cos \left(a^{\prime} z+\xi\right) e^{-a^{\prime} z}
$$

Hence for the surface current

$$
\begin{aligned}
& u_{0}=\frac{c V}{\sqrt{a^{\prime 2}+\left(a^{\prime}+c\right)^{2}}} \sin \xi=\frac{a^{\prime} c V}{a^{\prime 2}+\left(a^{\prime}+c\right)^{2}} \quad, \quad \frac{u_{0}}{v_{0}}=\operatorname{tg\xi } \\
&=\frac{\left(a^{\prime}+c\right) c V}{a^{\prime 2}+\left(a^{\prime}+c\right)^{2}}, \\
& v_{0}=
\end{aligned}
$$

If in the accompanying figure $O V$ represents the magnitude of the wind, $O S_{0}$ the surface current, $\angle V O S_{0}=\xi$. It is easily found that

$$
S_{0} V=\frac{a^{\prime} V 2}{\sqrt{a^{\prime 2}}+\left(a^{\prime}-f c\right)^{\frac{5}{2}}}, V \text { and } \sin S_{0} V O=\frac{c}{\sqrt{a^{\prime 3}+\left(a^{\prime}+c\right)^{2}}} 1 / 2 V^{2}
$$

This shows that the termmal point $S_{a}$ hes on a circular are with chord $O V$ and apical angle $135^{\circ} . S_{0} V$, now represents the relative velocity of the wind whech Ekman took for $\Gamma$-axis in his solution of the stationary case. Refering the result to these axes and putting: $S_{0} V=\Gamma$ we have.

$$
\begin{array}{rlrl}
u^{\prime} & =\frac{c V^{\prime}}{a^{\prime} V^{2}} e^{-a^{\prime} z \cos \left(45-a^{\prime} z\right)^{\wedge}} & u_{0}^{\prime} & =\frac{c V^{\prime}}{2 a^{\prime}} \quad \angle V S_{0} S^{\prime}=45^{\circ} . \\
v^{\prime} & =\frac{c V^{\prime}}{a^{\prime} \cdot V^{\prime}}{ }^{c-a^{\prime} z \sin \left(45-a^{\prime} z\right)} & v_{0}^{\prime} & =\frac{c V^{\prime}}{2 a^{\prime}} \\
& s_{0}^{\prime} & =\frac{c V^{\prime}}{a^{\prime} V^{2}}
\end{array}
$$

.These are indeed the formulae oblained by Ekman, if $\mathrm{c}^{\prime}=\frac{k V^{\prime}}{\mu}=\frac{T}{\mu}$.
Ekman's choice of axes and his formulae in the shape $u_{0}{ }^{\prime}=v_{0}^{\prime}=\frac{T^{\prime}}{2 \mu a^{\prime}}$,
( 1155 )
the angle between surface current'and relative wind, velocity $=45^{\circ}$, reckoned to the right for northern, to the left for southern latitude, led him to the wrong conclusion that, since $a^{\prime}$ becomes zero at the
 equator, the current there would become infinite and also that a sudden change in the durection, of the current would take place there. It is not difficult to see now where the error in his conclusion hes It is only as long as one remams on the same spot that the quantity 7 , used by him, is constant, as soon as the results for different latitudes are compared $T=k V^{\prime}=\frac{k a^{\prime} V^{\prime}}{\sqrt{a^{\prime 2}+\left(a^{\prime}+c\right)^{2}}}$ changes its value together with $a$ '. And since ' $T$ becomes zero at the' equator' together with $a^{\prime}$, the result is by no means that the current velocity becomes infinite, but simply that it becomes equal to $V$, as is obvious. At the same time we see from the value of $\boldsymbol{\xi}$, that at the equator $\xi$ approaches zero and that consequently the current, although rapidly, yet gradually approaches the absolute wind velocity and begins to devate to the left for southern latitude.

If we put in the result for the stationary current velocity $s_{0}=\frac{T^{\prime \prime}}{\mu a^{\prime} V^{2}}=\frac{k V^{\prime} V^{\prime} b}{\mu V a} s_{0} \alpha=n\left(p=30^{\circ}\right)$, it follows that $\frac{s_{0}{ }^{2}}{V^{-2}} n=\frac{k^{2} b}{\mu}=c^{2} b$. This now enables us to make an estimate of the value $c^{2} b$, which we wanted for the correction of Fredholy's formula. Aecording to Monv's observations $\frac{s_{0}}{V^{\prime}}$ is of the order $4 \times 10^{-2}$, so that $c^{2} b$ is $16 \times 10^{-4} \times 0.73 \times 10^{-4} \mathrm{i}$.e. of the orler $10^{-7}$, as we assumed.

The solution for a sea of finite depth was given by Ekian only for the stationary case, neither does Frediom deal with the nonstationary problem for this case. Since, as we saw, the theoretical correction of Fredhom's formula may be practically neglected for infimite depth, I felt justified in treating this case with Frropolm's. equations of condition $\left(\frac{\partial u}{\partial z_{z}}\right)_{z=0}=0,\left(\frac{\partial v}{\partial z}\right)_{z=0}=-\frac{T}{\mu}$; the formulae with the theoretically correct conditional equation become in this case unnecessarily complicated for practical application.

## (1156)

The differential equations for the case of finite depth remain the same. The conditional equations now become

$$
u=v=0 \quad \text { at } \quad t=0 \quad \text { ani } \quad z=h, \quad\left(\frac{\partial u}{\partial z}\right)_{z=0}=0,\left(\frac{\partial v}{\partial z}\right)_{z=0}=-\frac{T}{\mu} .
$$

The solution is here found, as in the analogous problem in heat conduction, when the length of the bar is assumed finite, in the form of a Fourter series. It rums:
$w=f(z)-\frac{2}{h} \sum_{m=0}^{m=\infty} e^{-\frac{(2 m+1)^{n} \tau^{2}}{4 h^{2}} b t-1 c t} \cos \frac{(2 m+1) \pi z}{2 h} \int_{0}^{h} f(\lambda) \cos \frac{(2 m+1) \pi \lambda}{2 h} d \lambda(8)$.
whese

$$
f(z)=\frac{T(1+i)}{2 \mu a^{\prime}} \frac{\sinh .(1+i) a^{\prime}(h-z)}{\cos h .(1+i) a^{\prime} h}
$$

$a^{\prime}$ being $=\sqrt{\frac{a}{2 b}}$. This $f(x)$ is the solution for $t=\infty$, i.e. for the stationary problem. It is easy to show that this solution satisfies the differential as well as the conditional equations.
Since

$$
\int_{0}^{h} f(\lambda) \cos \frac{(2 m+1) \pi \lambda}{2 h} d \lambda=\frac{h}{2} \frac{T^{\prime}(1+i)}{2 \mu a^{\prime}} \frac{8(1+i) a^{\prime} h}{(2 m+1)^{2} \pi^{2}+4(1+i)^{2} a^{\prime} h^{2}}
$$

(8) may be writlen

$$
\begin{equation*}
w=j(\pi)-\frac{2 i T l}{\mu h} \int_{t}^{\infty} e^{-l(a)} d \Lambda \sum_{0}^{\infty} e^{-\frac{(2 m+1)^{2}-2 b}{4 h^{2}}} \cos \frac{(2 m+1) \pi z}{2 h} . \tag{9}
\end{equation*}
$$

Now the summation in (9) may be reduced to another form. We have namely:

$$
\left.\sqrt{\frac{p}{\pi}} \sum_{n=-\infty}^{\infty} e^{-p(2 n+y)^{2}}=1 / 2+\sum_{q=1}^{\infty} e^{\frac{-y^{2} \pi^{2}}{4 p}} \cos q \pi y^{1}\right)
$$

Putting likewise

$$
\sqrt{\frac{p}{\pi}} \sum_{n=-\infty}^{\infty} e^{-p(2 n+1-y)^{2}}=1 / 2+\sum_{q=1}^{\infty} e^{\frac{-q^{2} \pi^{2}}{4 p}} \cos q \pi(1-y)
$$

and subtracting, we find

$$
\begin{aligned}
\sqrt{p} & \left\{\sum_{n=-\infty}^{\infty}\left(e^{-p(2 n+y)^{2}}-e^{\left.-p(2 n+1-y)^{2}\right)}\right\}=\right. \\
& =\sum_{q=1}^{\infty}(1-\cos q \pi) e^{\frac{-q^{2} \pi^{2}}{4 p}} \cos q \pi y=2 \sum_{m=0}^{\infty} e^{\frac{-(2 m+1)^{2} \pi^{2}}{4 p}} \cos (2 m+1) \pi y .
\end{aligned}
$$

${ }^{\text {1) }}$ Ribmann-Weber, l.c. II, p. 117.

Putting $y=\frac{z}{2 h}, p=\frac{h^{2}}{b \lambda}$ we have
$\sum_{n=0}^{\infty} e^{\frac{\left.-(2 m+1)^{2}\right)^{2}(\lambda)}{4 h^{2}}} \cos \frac{(2 m+1) \pi z}{2 k}=\frac{1}{2} \frac{h}{\sqrt{ } b \pi} \sum_{-\infty}^{\infty}\left(\frac{e^{\frac{-(4 n h t z)^{2}}{4 \lambda \lambda}}}{\lambda^{2 / 2}}-\frac{e^{\frac{-(4 n h h+2 h-z)^{2}}{4 b \lambda}}}{\lambda^{1 / 2}}\right)$.
This transforms (9) to

$$
w=f(z)-\frac{i T}{\mu} \left\lvert\, / \frac{b}{\pi} \int_{t}^{\infty} \sum_{-\infty}^{\infty}\left\{\left.\frac{e^{\frac{-(4 n h+z)^{2}}{4 b \lambda}}}{\lambda^{1 / 2}}-\frac{e^{\frac{-(4 n h+2 h-z)^{2}}{4 b)}}}{\lambda^{1 / 2}} \right\rvert\, e^{-i a \lambda} d \lambda\right.\right.
$$

Since at $t=0 w=0$, the final result is

$$
\begin{equation*}
{ }_{w}=\frac{i T}{\mu} / / \frac{b}{\pi} \int_{0}^{i}\left(F^{\prime}-F^{\prime}\right) e^{-i a r} d \lambda, \ldots . \tag{10}
\end{equation*}
$$

where

$$
\begin{aligned}
& F=\sum_{n=-\infty}^{+\infty} \frac{e^{-\frac{-(4 n h+z)^{2}}{4 b\rangle}}}{\lambda^{1 / 2}} \\
& F^{\prime}=\sum_{n=-\infty}^{+\infty} \frac{e^{-(4 n h+2 h-z)^{2}}}{\lambda^{1 / 2}}
\end{aligned}
$$

As the way, followed in deriving (10) is rather long, it may not be superfluous to show that (10) satisfies the conditions of the problem. That the expression satisties the diff. equat, needs no further proof, as this is the case wilh any form $\int_{0}^{\frac{\left.e^{\frac{-(p+i)^{2}}{4}}-i n\right)}{\lambda^{1 / 2}}} d \lambda$. Besides at $t=0, w=0$ and similarly $w=0$ for $z=h$, because the solution has the form $\varphi(z)-\varphi(2 h-z)$. It remains to be shown that $\frac{\partial w}{\partial z_{z=0}}=-\frac{i T}{\mu}$. Now

$$
\frac{\partial w}{\partial z}=\frac{i T}{\mu} / / \frac{b}{\pi}(P-Q)
$$

where

$$
\begin{aligned}
& P=\int_{0}^{t} \sum_{-\infty}^{\infty}\left(-\frac{4 n h+z}{2 b \lambda} \frac{e^{\frac{-(4 n h+j)^{2}}{4 b \lambda}}}{\lambda^{1 / 2}}\right) d \lambda \\
& Q=\int_{0}^{t} \sum_{-\infty}^{\infty}\left(-\frac{(4 n h+2 h-z)}{2 b \lambda} e^{\frac{-(4 n h+2 h-z)^{2}}{46 \lambda}}\right) d \lambda .
\end{aligned}
$$

Now it appears that for $z=0$ all the terms of $P$ and $Q$ annul each other excepting the term $P$ for $n=0$, so that there finally remains:

$$
\begin{equation*}
\frac{\partial w}{\partial z_{z=0}}=\frac{i T}{\mu} / \frac{b}{\pi} \int_{0}^{t}-\frac{4 n h e^{\left.-\frac{(4 n h)^{4}}{4 b \lambda}-i a\right\rangle}}{2 b \lambda}-\frac{.}{\lambda^{1} / 2} d \lambda_{n=0} . \tag{LI}
\end{equation*}
$$

## ( 1158 )

The value of this integral is found by introducing the variable
$x^{2}=\frac{(4 n \lambda)^{2}}{4 v \lambda}$ equal to $-1 / \frac{\pi}{b}$, so that $\frac{\partial w}{\partial z_{z=0}}=-\frac{i T}{\mu}$.
'The solution (10) adnits of a remarkable interpretation. The analogon of the problem here dealt with in the theory of heat conduction is to find the temperature in a bar' of small cross-section of length $h$, while- at the end $z=0$ a definite temperature interval $\frac{\partial u}{\partial z}=-\frac{\imath T}{\mu}$. ss maintained. Our result says that the temperature to be found can be conceived as due to a distribution of an infintely large number of heat sources and sinks of equal strength ${ }^{1}$ ) The heat-sources lie at $z=0$ and $z= \pm[4 n h]_{n=1}^{n=\infty}$, the smks at $z=2 h(1 \pm \overline{2} n)_{n=0}^{n=\infty}$. This shows that with respect to the point $z=h$ the sources lie symmetrically with the sinks, so that to every source at distance $p$ corresponds a sink at distance $-p$ and that consequently the temperature (and by analogy in our problem the current velocity), will remain zero here, if il is zero at $t=0$. With respect to the point $z=0$, however, the heat-sources lie symmetrically to each oftaer and hkewise the heat-sinks, while in addition there is one more heatsonrce at the point $z=0$. The symmetrical distribution of the sources makes at this point $\frac{\partial u}{\partial z}=0$, and also the sinks do not contribute to this quantity, so that for $\frac{\partial u}{\partial z}$ at the point $z=0$ there results only the influence of the source there situated. Now this was calculated above and amounted exactly to $-\frac{i T}{\mu}$.

For the surface current we find thus:

$$
w=\frac{i T V b}{\mu V \pi} \int_{0}^{t} \frac{e^{-2 a\rangle}}{\lambda^{1 / 2}}\left[1-2 e^{-\frac{4 h^{2}}{4 b /}}+2 e^{--\frac{16 h^{2}}{4 b)}}-2 e^{-\frac{36 h^{2}}{4\left(h^{2}\right.}}+\text { etc. }\right] d \lambda
$$

Comparing this expression with that of Frediolm for infimte depth, we see that it is equal to the surface curreni for infmite depth, diminished by twice the current which in that case would oxist at depth $z=2 h$, increäsed by twice the current at depth $z=4 h$, etc. As soon tas $z$ increases beyond a certain value, the current there is quite negligible against the surface current. Witl increasing $h$ fewer terms will suffice and for $h=\infty$ only the first term remains, 'being Fredholm's formula for infinite depth.

[^1]
[^0]:    ${ }^{1}$ ) Ekman. On the influence of the earth's rolation on ocean currents. Archiv for Matemalik, etc. p. 16. 1905.

[^1]:    1) W. Thomson. Math. and Phys. Papers 9', ${ }^{\text {² }}$ p. 41."
